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&&A  Fl~lkJ%A7IiLN3~ d o~3Uiu9~GkW&l
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2
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de1 = -c sin 8 ;i;

blmwil  c
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cos e sin 9 s
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de
'iii!= - cot 8
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ul&Fla r = c sin H
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dx -
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$ ln(v2 + 1) - tan -1 v = -1nlxl  - lnlcl
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=

X

xd2y =
dt

dx2
-v

rdj;

v
d

L&NW” dt dt ds
dx= ll-i-J-z
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//
XY

d v vr J - L - 7
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. . ...(l)
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1
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-___
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xk -k
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x2 -. y2 =c

x2 2=c* 3Y

2 3
xY+Y =C

Y3 :: 3 In x + c

x - y = c(x + y13

I‘  = cc1 - c o s  6)

r2 - c cos 28

r(l +2case)=c

r2
e2

= ce

y - 3x = c
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.
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x = Ce-kt.

L&win  x  = x0 Al t =0  mllilc=xO IGiM
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2

unwil e-k h&m7  (3 f

. ...(3)

96 MA  216



x = xO(fYv
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0

.1 pm+
2

1 t/1,500
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n) E-I t = 4,500 umilubuni7 ( 4 1

⌧ q ⌧ ( 1 )3 z t
0 2 a ‘0

. . ...(4)
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x = Ce
i
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0
x=xe
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2 x
0
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ii7 x = 3 x0 wlulu~un-l7  (7 )

3x0  = x0(2 t/40 )
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.

t q 40 k

. . ...(5)

. . ...(6)

. . ...(7)
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dt

ufiiaMl17  x%i
x = (p

d o  t=0,x= x0 wlwil c =  x
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0

& t q 6, ⌧ q 5 ⌧ 106 k&i

= x e6k
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MA 216 9 9



dx
-&  OI (x -.20)
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us&iwh
dx- = -k dt

x - 20
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ln( ’ C 20 1 = -kt

⌧ q 20 + Ce
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-kt
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5
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1
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X 1
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1. x = 100 exp( $pp 1, t 50 In 2= - RI
ln(3/4 )

120 1

2.
5 In 10
---iii2 N 16.6 'ii-h

3. 1,600 g

4.
In 3

10m R' 15.8 i;;a%.N

5. 5 exp(4  In 2 1 N 80 &t&d

6. 30,000 ( ; I2 m 40,833 FtId

7. fl) x = 95 - 20e1'2 IJ) t = 4 In (3/41

8. n) 10e-t/25
+ 10 xi) 0.4 e-tJ25  + 0.1

9. nl 0. 4tX + 20t
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- -

0. 4t2
al __ + 20t

, 0 < t < 25- -
ut‘ + 5012
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I
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dv dv dx dv
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=&.-&=v;i;;

mdv=F-
dt

l&l mv !.!!,  =  F

dx

. ..*. (2)

. . . . . (39

. . . . (41

w dv- -
g dt

q +

%m  W = 4, g = 32 h&1

4 dv- -
32 dt

=4+

wa”o
d vdt = 4(8 - VI

dv- = 4dt
8 - V

-In  18 -. VI  = 4t + c
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1
8 - v = ce

v = 8 - cc
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-0 1mmln71  x = 8(t + - e -4t
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7in x(0)=0 nY%X  c2=-2

x = 8(t + i e-4t)  - 2 . . ...(6)

F=ma

n3XXi -w = ma
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2x_ = -g
dt2

ihG6naa

dX
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-7 -gt + c
1

&I v(t)=-gt+c
“1,6&4-mn  v(0) 5 v0 R\)ldU c = v

1 0
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0
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dt,

dx
x

= -gt  +  v
0

a2
CiLn701 x(t) = - z +vt+c

0 2

. . . . . (7)

_ . . . . (8)

. . . . . (9)
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2
P v0- -

= 2g
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200 dvl 152~=288--v
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dvl 2
i.E-- q 32 - z v1
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1
q & dt
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dxl
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dt

-2t/25,

25
xl(t)  = 400(t + - e

2
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2
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:x1(
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200 dv2
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3 dv
- --2 dt _ 24 613 ; v

dvl&3 ___ dt
q -

48 - 1213 - v 3
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&3Tl" v( 0 'I = 0 a% c
1
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2
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t: 2
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